B 3FEESD S LR X DM ORI DUV T

BN OBFLEWALLEELAID I LMMEREICOVWTRDEBYRFL XY,

L. FHAHEROEHEE

FF MR

2,967

S48

158,513,000

2. FIWHEHRUEHNEE (FREoERE)

fE&RX B3 SitegE (1)
FEE IR 447 26,268,000
BIERS 368 22,651,000
o R - 24t 286 12,455,000
—R& 2T B -
HE -t - RAR—Y 352 22,670,000
TLRRES R 473 26,279,000
Z D1t 1,000 46,133,000
L o RAHFNRER Y 55>

ISR T F T4 v TENH " 41 2,057,000

S
aat 2,967 158,513,000

S5 B X EINEREME S LT, SH3FEAR1IE A > SFI4EIA3IE F TITHSTH W=/ W=A %,
ROEBYBNIETWEFEEET,

KEFM NI WTRIS, AREFLEEINTLADARRLTWET,

(15055 B =2 AF IR

B TR HH&E (M) BIRSN/FELE

MR He e BER 20,000(%F - XMt + K-
MR B I FER 10,000|3E - >0tk - RAKR—v
R Bz 53 BER 10,000|% %5 - Ut - RAR—
MR B I BEE 10,000|3E - >0tk - RAKR—v
AL TR & =11 10,000 IR FEB BR

XH U AR 20,000|f2kk - &4t

RIB B & AR 20,000(%F - XMt + K=
XH U AR 20,000(%F - XMt - K-V
A B & (= 20,000(% o tb

A B U =2 20,000| % D Ats

S BE & R 20,000(% o ts

il & U RRE 50,000 |/ EEARES X

ME BS & HRER 7,000 RLE LR E B B

FHE B B A 10,0007 27 R7 7> T4
IR R & Fal B 10,0005 - @tk




Bl HEA & ZLE 5,000(%F - xXft + K=Y
Al #— e FEE 7,000 REFRE
e ADE (5 BER 10,000 IR FEB AR
KR EF B FRiE 2 10,000 | ZE 2R
AR R {5 AR 10,000| 2B @tk
BHX TAZ Bk )2 1,000 2o K7 7>vTa vy
AV N (5 FHE 20,000|f2RR - &AL
P BETF B FRi 2 1,000 27 R77>Tav
KH =R R FRiE 2 1,000 77 K7 7vTavy
B B RER 20,000(% oAb
B #H= {5 FER 20,0003REFRE
B RAKER e R 20,000 |15 R4
RE &8 Bk FER 10,000 Z D
NS B FHES) 1|2 50,000 (f2Rz - @4t
Ex Bk HRE 10,000 Z D
g B= BR BRER 20,0001 29 k77> T4 >0
A FEF Bk HRE 11,0002 2w K7 7> T4
BE =& Bk FhE 2 41,0077 K77 T4y
2F B Bk Fri 2 100,000 Z D
Fl & e FHES) 1|2 20,000(%F - XMt + K-
Z) &= BR FEEIIE 20,000(%E - XMt - RAK—Y
HE thETF BR BRER 10,0002 27 K7 7> T4
EiL OAF R BRHER 10,0002 27 K7 7> T4y
L — BR BRER 10,0002 27 K7 7> T4
TE —% R BRER 20,0001 29 K7 7>y T4 v
N e HRED 34,0002k R E B B
®"T R=E BR FRiE 2 1,000 27 R77>Ta4v
AR Bk BR BRER 500010 2 K7 7>vTa4v
L fOfE BR HRE 10,000|3E - >0tk - RAKR—v
FE EE & HRED 20,000|f2RR - B4tk
Sl 5k BR FRi 2 10,0007 27 R7 7> T4
f2:2 N & HRER 20,000(% o tb
il K BR FRi 2 30,0000 77 k7 7>y TFq4 vy
RIE & FE) R 20,000(%F - XMt + K=
L NE BR FZR) IR 100,000|fE: - @4t
Wik Ath & BEE 20,000(%F - XMt + K=
NG EM BR RRE 20,000|BEFRS
Al #— & FER 10,000|f2E: - @4t
2/ HIZE ES RERAT 13,000|# & - xft - RFR—Y
iR |2 & REE 10,000 Z DAt
RE i B RSN 14,000 % D fth
R A3 & ] LR 20,000(% m b




e = 57 B HEE 100,000 | ZE 4R 5

XHE % HREB 40,000|f2RE - f24L
=L BE=E B HREB 100,000{% & - 3t - RAR—
A = 53 REE 10,000 |f2E{=4t
rE Az {5 BRER 20,000|BiER S
RE &% 3 1Rz 1|18 20,000 AR BAREB X
Bl miR B Bl 2 10,000| % D s

Tl ER 53 ALt 8,000|#E - b -« AR—Y
W& B yN T 20,000 | E % iR H
5E E 53 RSN 14,000|f25E - &tk
FEE BT B )R 30,000|#E - XXMt « RAR—Y
# BT BR BRER 25,000 B1E R4
=H ME Bk HRE 14,000|B1ER AL

XHE & BREB 25,000| 28 - f24k
2 = U HREB 21,000 RBARET X
=iE = & BREB 14,000[818124

N XE £k BRER 170,000|;rLE i (RE B Bk
M & 53 =R 20,000|% Dt

B 8= I 1Rz 1|12 20,000| % D ts

FH A 53 BREB 11,000|fEBE@ 1L
== B BB 50,000|f2EE - 24k
B W= I3 BEE 100,000(% o1t

&F Al I HREB 15,000|% s

B B 53 IR 7,000| % Dt

XHE B BB 25,000|f2E - 24k
5E E 53 )18 18,000 R EF L
BAR = I B R 990,000 ;A AR EE X
Mmooz 53 aE 15,000 | 7 3R 5

& EF IS BB 100,000(B#52 4

il #BE 53 KERAT 20,000| % D Ats

T m U 1Rz 1|12 20,000(% Dt

HO RN B )8 20,000 | E £ iR E
KE W B B 30,000|B1E 72
KE Fk 53 BB 30,000 | ERE
hiE B2 B 31|12 25,000 A= HARE B Rk
A JE— B SE S 338,000|E % iR E

AR 8 U B 432,000 iR

=25 T& % R 21,000 R BAREF AL
BA EA & RSN 100,000 | = 2R R
BH AR % Flm R 25,000| % D Ats

EE LA % FER 25,000 | 2 iR
S R % WE)I|2 15,000 A2 4R E B X




=i % WE)|2 20,000| % D Ats

g BE % HREB 15,000 | E 3R 5

PR Al B HREB 30,000|E % iR A

s RE 53 R 30,000|%E - b - AR —Y

T Ex B SEE 20,000|BiER S

EAR FX 3 = 16,000 | P 23R 5

EHE BET B HRE 20,000 | E iR A

EH BB B R 20,000 AR EAREB AL

BE = & A2 18,000|f&R7 - @tk
ZbhBvyo T4 UT LA % R 132,000 2R - @tk

TH E# B BB 30,000| % D Ats

ER BB 53 A2 8,000| % Dt

ElE OREB U 1Rz 1|12 50,000 ;A REARET AL

KE BB BR BRER 50,000 % Dt

£ @ U 1Rz 1|12 15,000|% & - 3t - RAK—

T =R 53 SR 20,000| % Dt

A b U 5 E 2 25,000|1%E - ik - AR—Y

WfE  £F] 53 BREB 15,0002 MR EB AL

Tt R I FER 15,000 | = 2R R

) XE 53 BREB 86,000 ;A2 MR E B X

FE HE B BB 100,000(B1524

MR A 53 BB 15,0002 R EF L

fefR BT IS HRER 500,000 | Z=RE (5 o BF O SEMEL)

BEOX 53 R 15,000 ;A2 R EF AL

BEOX B BB 15,0002 H4{RE B X

=i E— I3 ) 20,000( % Dt

Bl &EF B )R 20,000(% D ts

Flll & £k BB 100,000(% o1t

VAN I FER 21,000|1%E - 2k - AR—

W B £R REFE 30,000 3RIBHRE

R Al B B 30,000 ;A= HARE B Rk

HE K& 53 JbiEE 10,0002 XIREE X

FH Az B HE S 60,000| % Dt

5 B B BB 26,000 | E % iR E

;OB B LBE 300,000 | 2 iR B

AR K & paskizld 7,000 R AREB AL

IS T U AR 50,000 ;a1 HARE B Rk

BPIE T % R 27,000 ;A2 MARE B R

¥esF —H & E) 1|2 25,000 ;A2 MARE B X

prIER EH=E R a2 30,000( % D1t

BEE T % L2 30,000|% Dt

EAR =B B HEE 20,000| % D ts




EAR =B B HEE 20,000| % D Ats
TE RSB & L2 10,000 ;A2 RHRE B L
AR IFE B BRER 30,000|#E - XXMt « RAR—Y
s & £k BRHR 30,000[BiER 4
18 1S B AR 20,000 ;A2 HARE B X
R B B 1|12 40,000 [(AT 2R EB BX
BE EE B A2 50,000| % D ts
Kok Fah 53 RS 77,000 | E % iR

SHEN HENGWEI B HRED 50,000 | =B
=R B 53 RSN 34,000 |2 EE 124t
MHE AN R LAae 8,000(#4E - XMt - R —
TH #Wz B BEE 338,000 R4
A kR BRER 50,000|BiEFR S
mE M 53 Bl 2 50,000(% Dt
ZH Bic U ST 74,000 |2 EEfREAL
ZH B & BEE 50,000 |fEEEfE4L
BE = I 1RSSR 18,000 |2 4RE B X
HE BK 53 FEE 30,000|% Dt
e SO U rEESIC! 20,000| % D ts
¥H BE 53 Bl 2 50,000(% Dt
= =FS B BB 20,000|f2kE - 24k
ARl 53 R 32,000(#& - tfb - RAE—v
mHF ETF £k KERAT 27,000|%E - XXt - RR—
EH IR 53 Fal 2 11,000|%F - 3t - K-V
& BH £k BER 50,000[F=ERE
WEE BB I3 Bl 2 6,000| % Dt
=E  HEB I 512 30,000(% D ts
“BEE K 53 )18 20,000(% Dt
FE E— IS BB 100,000| % o s
mE 2 53 HRHR 100,000|% D1
® HBE B FER 50,000|% D ts
A KX 53 BB 33,000 | E % iRE
R B B 1Rz 1|12 30,000|f2kE - f24k
KR &A 53 HRHR 50,000| % D ts
AAE HEE B AR 32,000|1%E - it - AR—
=P ERER B Bl 2 10,000 2% IR EE X
=P FARR B Bl 2 10,000 ;A RARE B AR
= AR B Bl 2 10,000 ;AR EF AL
=P FARS % Bl 2 10,000 ;A2 RHRE B L
= AR B Bl 2 10,000 ;AR EF AL
=P FARR % Bl 2 10,000 ;AR EB AL
= AR B B2 10,000 ;AR EF AL




= AR B Bl 2 10,000 2R EE X
=P FARS % Bl 2 10,000 ;A2 RHRE B L
= AR B Bl 2 10,000| % D s

=P FARR B Bl R 10,000|% s

NF B % HER 6,000| % D ts

5N - 3 R 200,000 ;AR EB AL
BhRE & & SHIE 25,000 ;AR BARE T AL
R &E B eI 37,000 AR AR EB X

FIl KR B )| 2 50,000| % D ts

AR AKX 53 HEER 30,000|% Dt

BF)Il SEREL Bk FriE R 27,000 R

B ¥ & FI 2 50,000 | # iR 7

ElE OREB U eI 50,000|%E - 3k - AR—Y
wrE EET 53 IR 10,0003 ER S

Nz #®A U FHIE 15,000|% & - 3t - RAK—
o i BR BRER 70,000|B1ER 4

AR & U R 20,000| % D ts

T8 —E 53 BREB 40,000 | 2R M

=i BE £k B/ 15,000(34F - Mt - RAR—
FEe Al BR BRER 30,000|B1ER 4

TH &M B LEB 50,000 ;A2 AR EE KX

B e BER 11,000|#EEEt@HE

N E— IS 1Rz 1|12 30,000|f2EE - 24k

5N - 53 R 400,000 A2 MARE B X
AR BT £k xR 10,000 % Db

BE B2 53 HEE 20,000( % Dt

Bl B— % B 130,000|f2E@HE

xH O ES £k K BRAT 30,000| 2R &L

MBS e £k FrfE 2 34,000 | FEZRFEB X
EEN Bt 53 HRHR 20,000|%E - ik - AR —Y
Al Bk B AR 18,000|% d s

R 53 BEE 50,000| % D ts

F1a S U 1Rz 1|12 20,000 A2 HARE B Rk

B wml B A2 100,000(%%& - 3t - RAKR—
FRH —X B Bl 2 10,000|%%B - >t « K=
IR &' & JbiEE 7,000|f&ER - 24t

(VNS SV B i mji= 8,000|IRERE

A fE— % R 100,000 ;A 2R EF AL
[LH & % R 100,000 (A 2R EF AL
A % BB 7,000| % D Ats

EH R & L2 15,000| % s

117 BR HRED 11,000|B1ER AL




il EMT % BB 40,000 ;AT B MR EF X
R ET % AR 15,000 |2 f@ 1k

R R—BB B eI 40,000 (AT E MR EB AR
AR OB 53 Bl R 100,000(% %5 - Ut « RAKR—
278 E e A2 50,000|BiER S

22 E £k )R 100,000(B15E 4L

wE Bk % BEE 25,000 ;AR BARE T AL
R 53 1Rz 1|18 5,000|A AR EB AL
R ER B )| 2 34,000 REAREF AL
i 53 HRE 15,000 A2 IREEB Rk
R FRH B Flm 12 100,000 |f&RE - @tk

N2 HRE & BER 27,000 ;A2 MARE B X
T8 B U rEESIC! 50,000 | £ iR B
ELVNIPEA 53 KERAF 15,000|%F - 3t - ZAR—Y
IE S = U FER 18,000|% & - 3t - RAK—
rE EE 53 REHE 30,000 A2 MARE B X

SH 3 U HREB 10,000 | = 2R R

BAR EhkTF 53 BREB 300,000 |2 E 424t

5K EET Bk BRER 100,000 BiER L

5K EET e R 100,000(BEER 4L

2zl KN BR HRE 8,000/ RIERE

A ft 53 FER 12,000 P 3R 5

NI o IS FER 10,000|f&RE - @itk

i HF 53 R 17,000|%F - 3t - K-V
B’AR BT B S| oy:: S 14,000|B15E24

HE F 53 BB 50,000(% Dt

8 5 B BB 50,000(% D ts

ZEBE  ARER BR Ry 50,0005 - XMt - RFR—
B5E2% B IS BB 10,000|;r21%{REE Bk

e E— TS BEE 8,000| % D ts

AR =T B 31|12 40,000| B8R4

mih BEA B Bl 2 100,000 ZE 4R 5

=H B B 17,000| E 3R 51

NHE HIk 53 SR 50,000 |f2EE - f24k

Heh 1 B Bl 2 11,000|f&RR - &@tt

fafm & & paskizld 15,000|% %5 - Ut - RAKR—
fRE B|A B B 50,000|%5 - Xt « AR—
#P —H % WE)I|2 25,000 ;AR EAREF AL




BH e % R 16,000|% 5 - 3t - RAK—
AN % R 300,000 (AR E B BX
RIE KA B REFE 11,000 |EE 2R 1
BAMBANG RUDYANTO  # 1|12 100,000 | e 2R R

H =FA B FRiE R 10,000|% & - ik - AR —V
AR =R 3 R 50,000 ;A EEAREB AL
A =R B BREB 50,000 ;AR EARE T AL
ERE M 53 Bl R 30,000 EEAREB AL
Bl #BET B FER 14,0002 4REE X
KE HEA 53 L2 100,000 2 {REEB Bk
RE EE & REFE 10,000 | EE 2R 1

a2 B e BRER 80,000|B1E R4
xE F— U HREB 180,000|f&RE - &tk
58 ¥ 53 R 194,000| % s

PR SE5L U HREB 50,000 | £ iR
AN BT 53 R 15,000|f&2RR - @tk
INEF fERY I 1Rz 1|12 15,000 |24 REE X
Wi 7 53 BREB 200,000 ;A2 AR E B X
RE K& U HREB 50,000| % D ts

hll & 53 EHIE 100,000| % D s

18 RZ- B BB 11,000|f2EEf=4k

TH % BR BRER 10,000 B1EE 4
R Al IS HREB 30,000|3B1E 34
VN =+ 53 BER 10,0002 MR EF L
b=z [ B BB 100,000| % Dt

2H K I3 BB 100,000| % o s

=L BEE B BB 200,000 ;A2 AR EE KX
5H F— I3 HE S 50,000 ;TR EE X
= IS BB 11,000|% s

FiE Al 53 BB 30,000 | E % iR E
Hl REB B 1Rz 1|12 50,000|%F - Xt « AR—
wE Bk 53 BEE 25,000 ;AR BAREF AL
BB FAKRER B AR 7,000| % Dt

i EZR 53 HRHR 10,000| % D1

EH £ B HER 10,000|%%B - >t « K=
HE == & FER 100,000 [3RiERE
R Al B B 30,000 ;A= HARE B Rk
f£1a X % S8 22,000|f2EE - 24k
mi = & Bl 2 14,0002 RHREB L
B 8= % WE)I|2 22,000 ;AR BAREF AL
P Al % HREB 30,000 A2 MARE B X




